WF288624AAK
WF288624AAM

1450x460x15mm

0
2
<>

-

1350x40x15mm 745x440x30mm

®© o0 @
2

< S

625x439x15mm  625x439x15mm

®
"SQ

4

440x424x15mm  440x424x15mm  440x97x15mm 436x396x15mm 634x449x3mm 436x188x15mm 350x116x15mm  385x116x15mm 394x344x3mm 424x400x 1 5mm

745x440x30mm

\‘ / TOOLS:
= 4
J\L i ® .ﬁ.’J:L

1350x424x15mm 1350x40x15mm

x X Q)
Q N (g
Q S

_ 4
s ™
PACKAGE - B ® © (3) ® ® ©)] ®
X X X X X X X
47 3 8 58 28 8 8
= s o Aa
=5 S &2 / N
= 8 8 v |
= > = W,
= ®15x9 M4x35 M3x12 $8x30  M4x20
=
= ® © ® O ©®
= 2 X X X X
= ©
=
= =
= i T
V
UNIT:MM M3x16
. = J







BOLT INSTALLATION AS BELOW:

| oo - |

@ Connecting piece \/
Ad. just connecting piece direction Insert bolt when Connecting
? if condition as illustrated piece under Such condit ion

(7

Al g 0 > A3. NS

OO oQ o0 00 © 00«
DI
® ® ©

-]

¥

|
& e,

@
€

® >z
5

®

%M

7













10.

11.




12.










